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A homogeneous disk of mass m = 8 kg rotates at the constant rate
@, = 12 rad/s with respect to arm OA, which itself rotates at the
constant rate w, = 4 rad/s about the y axis. Determine the angular
momentum H, of the disk about its center A.
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A thin, homogeneous disk of mass m and radius r spins at the constant
rate w, about an axle held by a fork-ended vertical rod that rotates at
the constant rate w,. Determine the angular momentum Hg; of the disk

about 1ts mass center G.

rz

e
I

L
~
- 0
L
!
e

p—
—
-
—
—

1
z wr

Thin disk

}E

N

vl 1

—
;,"“J‘—H >(II

L

N

&




